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det(P ·Q) =
)

1→r→l

f(ωr) ·
)

1→r<s→l

(ωr → ωs) ·
)

1→i→k

g(εi) ·
)

1→i<j→k

(εi →εj) =

=
)

1→i<j→k

(εi → εj) ·
)

1→r<s→l

(ωr → ωs) · al0
)

1→r→l
1→i→k

(ωr → εi) · bk0
)

1→i→k
1→r→l

(εi → ωr).

Учитыва(, чт)

detP · detQ = det(P ·Q),

п)+,- +)./а0-1и(, п),2чи3

detP = al0 b
k
0

)

1→i→k
1→j→l

(εi → ωj).

4-)/-3а 5).а6а1а.
7 , - 5 + т в и -. Справед()во раве+,-во

Res(f, g) = al0

k)

i=1

g(εi).

У п / а 8 1 - 1 и (. 1) 95- 1281), чт):ы a0 и b0 :ы,и )т,ич1ы )т
12,(? 2) ;)ч-32 вып),1-11)- +)./а0-1и- 6а.)11)?

25.2. Критерий с()мест+(сти ,)-. -р/)+е+ий с (,+им
+еи0)ест+1м. 4-п-/ь 3ы =)т)вы 5ать )тв-т 1а в)п/)+, +ф)/32,и-
/)ва11ы? в 1ача,- па/а=/афа.

4 - ) / - 3 а 2. .(/ 0+о1о2(е+ов f, g ↑ P [x] рав+о,)(3+4 ,(ед5-
67)е 5-вер8де+)/:

1) Res(f, g) = 0;
2) f ) g )0е6- о97): ;оре+3 )() a0 = b0 = 0.
Д ) . а 6 а т - , ь + т в ) /а6:ива-т+( 1а 1-+.),ь.) +,2ча-в.
С(52а: 1. a0 ↓= 0, b0 ↓= 0. 7/а62 +,-52-т и6 т-)/-3ы 1.
С(52а: 2. a0 = b0 = 0. 4)=5а A-,ы? +т),:и. в )п/-5-,ит-,-

Res(f, g) /ав-1 12,B, а п)т)32 Res(f, g) = 0.
С(52а: 3. a0 ↓= 0, b0 = 0. C+,и g(x) ≡ 0, т) Res(f, g) = 0, f и g

и3-Bт ):0и? .)/-1ь. ;2+ть g(x) ↓≡ 0, 1) b0 = . . . = bi−1 = 0, bi ↓= 0.
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4)=5а

Res(f, g) =

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣

a0 a1 . . . ak 0 0 . . . 0
0 a0 . . . ak−1 ak 0 . . . 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
0 0 . . . 0 a0 a1 . . . ak
0 . . . 0 bi . . . bl . . . 0
0 . . . 0 0 bi . . . bl . . . 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
0 0 . . . 0 0 bi . . . bl

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣

= ai0 Res(f, g),

=5- g(x) = bixl−i + . . .+ bl. 4)=5а

Res(f, g) = 0 ↗ Res(f, g) = 0.

;) т-)/-3- 1 /ав-1+тв) Res(f, g) = 0 /ав1)+и,ь1) т)32, чт) f и g
и3-Bт ):0и? .)/-1ь, а эт) /ав1)+и,ь1) т)32, чт) f и g и3-Bт ):0и?
.)/-1ь.

С(52а: 4. a0 = 0, b0 ↓= 0. Eа6:и/а-т+( а1а,)=ич1) +,2чаB 3. 4-)-
/-3а 5).а6а1а.

25.3. 2с3456е+ие +еи0)ест+1.. Eа++3)т/и3 +,-52B02B +и-
+т-32 а,=-:/аич-+.их 2/ав1-1и?:






f1(x1, x2, . . . , xn) = 0,
f2(x1, x2, . . . , xn) = 0,
.................................
fm(x1, x2, . . . , xn) = 0,

=5- fi ↑ P [x1, x2, . . . , xn]. Д,( -- /-ш-1и( 3)81) п)п/):)вать п/и-
3-1ить 3-т)5 и+.,Bч-1и( 1-и6в-+т1ых, и+п),ь62-3ы? 5,( /-ш-1и(
+и+т-3 ,и1-?1ых 2/ав1-1и?, т. -. и+.,Bчить в1ача,- )512 1-и6в-+т-
12B, п),2чив +и+т-32 )т 3-1ьш-=) чи+,а 1-и6в-+т1ых, 6ат-3 вт)/2B
и т. 5. ;/)5-,а-3 эт) 5,( +,2ча( +и+т-3ы 5в2х 2/ав1-1и? + 5в23(
1-и6в-+т1ы3и.

;2+ть 3ы и3--3 +и+т-32 5в2х 2/ав1-1и? )т 5в2х 1-и6в-+т1ых:
{

f(x, y) = a0(y)xk + a1(y)xk−1 + . . .+ ak(y) = 0,
g(x, y) = b0(y)xl + b1(y)xl−1 + . . .+ bl(y) = 0,

(1)

=5- ai(y), bj(y) ↑ P [y]. Д)п2+ти3, чт) 3ы 23--3 /-шать 2/ав1-1и( +
)51и3 1-и6в-+т1ы3 п/)и6в),ь1)? +т-п-1и. На5) +в-+ти 1аш2 +и+т-32


